
 
 

Sloth Maths  

 

Sloths are either two-toed or three-toed.  

The Longleat sloths are ______-toed.  

 

 

 

 

 

 

How many sloths did you see today? 

 

Therefore, what is the total number of sloth toes? (remember how many legs they 
have!) 

 

 

Sloths eat approximately 10% of their body weight every day in food. Assume Longleat’s 
sloths are an average weight of 7kg. Based on the number of sloths you saw, how much 
food do they need? 

 

 

 

 

Estimate the width of the sloth hall.    ____________m.  

Sloths move an average speed of 0.5m per hour.  

How long would it take a sloth to move from one side all the way to the other side 
(assuming it’s moving at average speed)? 

 

 

Commented [CW1]: Add sloth image showing toes in 
case they can’t see them 


